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4. Solve the simultaneous equations
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4. Solve the simultaneous equations
y=x-2,

y2+x2= 10. :70\"07
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5. Solve the simultaneous equations

x=2y=1,

x*+y?=29.
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4. Solve the simultaneous equations

Xx+y=2
4y* —x* =11

T =1
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2. Solve the simultaneous equations
y—2x—-4=0
42+ +20x=0
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5. Solve the simultaneous equations

fl

y+4x+1 0

YV +5x1+2x=0 It
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5. Solve the simultaneous equations
y=3x+2=0

Y =x—6x>=0
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6. (a) Giveny= 2% show that

22 172+ 8=0
can be written in the form

22 -17y+8=0 Z-17
2

(b) Hence solve
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226+ _ 17(27) + 8
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6. (a) By eliminating y from the equations Tu-F
y=x—4,
2x% — xy =8,

show that

¥ +4x—-8=0.

(b) Hence, or otherwise, solve the simultaneous equations
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2. Find the set of values of x for which
X —Tx—18>0. V=¢
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6.

Find the set of values of x for which

(a) 3(2x+1)>5-2x,

(b) 222 —Tx+3>0,

(c) both 3(2x+ 1)>5—2x and 2x*> — 7x + 3> 0. T s
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4. Find the set of values of x for which
(@) &x-3>7~-x
2)
(b) 2x* —5x-12<0 A~ 9
4
(c) bothdx—-3>7—xand2x*>-5x—-12 <0
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3. Find the set of values of x for which

(&) 3(x—2)<8—2x

2
(b)) Cx-7(1+x)<0
Ty—1t0 3)
(c) both 3(x—2) <8—2x and (2x-7)(1+x)<0
@
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5. Find the set of values of x for which

(@) 2C3x+4)>1-x

(b) 3x2+8x-3<0
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3. Find the set of values of x for which

(@ 3x-7>3-x

(b) x>-9x <36

(¢) both 3x—7>3-~x and x>—9x < 36
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3.

Find the set of values of x for which

(@) 4x-5>15-x

(b) x(x—4)>12
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8. The straight line with equation y = 3x — 7 does not cross or touch the curve with
equation y = 2px? — 6px + 4p, where p is a constant.
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(a) Show that4p* —20p+9 < 0 Tl g

(b) Hence find the set of possible values of p.
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